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Xw=97,45,Y,,=100,00,Z,,=95,98 B0
xw=0,3321y,,=0,3407 T40
Ao= (@0~ ag,) Yis (VY1913
Bo = (B ~ bo) Y15 (/Y1913
ag = [xly]

bg = byq [2/}]

ay =1, byp=-0,4

n = P55 -40
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X,=97,45Y,,~100,00Z,79598 B,

%w=0,3321y,,=0,3407 g4

A1= (a1~ a1 ) Yig (Y/Ym)lg
By = (b1~ by ) Yig (/Y19
3y =ay[(x-0,17Dh] g

by =y [2/Y]
a0= 1, byy= 0,4 F53‘°°\T
mr;=1,000,bp3=0,171 \
n = P55 —40 '
7
OgfawaldH
max (m)]
Buptheité
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Xu=97.45,Y,,=100,00Z,~9598 B,
%, =0,3321y,,=0,3407 10
Ap= (@ = ay) Yig (VY1913

Bz = (b~ by, Y15 (Y1913

ay =2y [(x-0,17Dh]

b,=ba0 [(Mp1x+bp1)/Y]

ayy=1, byy=—0,4 L
mp;=-0,169,bp;=0,389 \ \
n = P55 _40 )

OstwaldFarben (o), Yjy=100
max (m) Buntwert, P55
Buntheiten (A*,, B*,)
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Xw=97,45,Y,,=100,00,Z,,=95,98
x=0,3321y,,=0,3407

A= (@ = as) Yig (VY1913
B3 = (b3~ bs ) Y15 (/Y1913
ag =ay [(x-0,17D/y]

b3=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4
mD1=—0,974,bm=0,6'58

n=P55 -40

arben (0), Yy=100
pufi@vert, P55

n (A*5, B*3)
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X,=97,45Y,,~100,00Z,79598 B,

x=0,3321y,,=0,3407 +40

Ay (8 =aq) Yia (Y19 113

By = (b4 — by ) Y18 (Y/Y19

a4 =ay[(x-0,17Dh] 1

by=byg [(Mp1x+bp1)/y]

ay =1, byp=-0,4 P83 42

Mp1=-0,169,0p,=0,389 . P53 ) A

n = P55 4 ' ' f

40 7 36 40
1 J

Ogwaldfarben (o) Yjy=100
max (m)Buhbvert, P55
Buntheiten (A*,, B*,)
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Xw=97,45,Y,,=100,00,Z,,=95,98
x=0,3321y,,=0,3407

As = (85— 3s,1) Yag (VY19 M3
Bs = (bs ~ bs ) Y15 (/Y19 /3
a5 = a0 [(x-0,17/y]

bs=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4
mD1=—0,974,bm=0,6'58

n=P55 -40

arben (0), Yy=100
pufi@vert, P55

n (A*s, B*s)
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Xw=97,45 Yy=100,00Z,,=95,98
x=0,3321y,,=0,3407

Ag= (86~ 3g,1) Yag (VY19 M3
Bg = (B ~ bs) Y15 (/Y19 /3

g = ago [x/Y]

be=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4
Mp=-0.97400,=0,658 |
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n=P55 -40

OstwaldFarben (o), Yjy=100
max (m) Buntwert, P55
Buntheiten (A*g, B*g)
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